Physics 606: Homework #5
Due April 5,2016

Jackson: Problems 6.12,6.14,7.14,7.16

Show for an isotropic medium with a local response (Viz. de/ ok = au/ ok =0)
that the ratio of the time averaged Poynting flux to the time averaged energy
density for a plane wave is the group velocity.

Download and familiarize yourself with the paper labeled
“PhysRev.125.pdf” in HNDO. It was written by a young researcher with a
promising career in plasma physics. But then he just dissapeared from the
scene. Don’t let that happen to you.
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